Q.1 9 R v Adrd ot SO

Ans X 1. fpa
X 2. 3wt
W 3. fdar
X 4. iy
Question Type : MCQ
Question ID : 630680330645
Option 1 1D : 6306801286249
Option 2 ID : 6306801286252
Option 3 ID : 6306801286251
Option 4 ID : 6306801286250
Status : Answered
Chosen Option : 1
Marks : 0
Q.2 "G € BIERT BIoft fafded.
Ans X 1. HHT dRER
o FRIGINET
< 3. pHHTEdl Geris
X 4. o dgaes
Question Type : MCQ
Question ID : 630680330666
Option 1 1D : 6306801286335
Option 2 1D : 6306801286333
Option 3 1D : 6306801286336
Option 4 1D : 6306801286334
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 THYI], AgHIchid, Tteicha & HIUTeIT THIAT 3GTER0Y 3MTRd ?
Ans X 1.¢g 9AN
X 2. 3T IA
o 3. Sgdlel @
X 4. aeY gAY
Question Type : MCQ
Question ID : 630680330654
Option 1 1D : 6306801286286
Option 2 ID : 6306801286285
Option 3 ID : 6306801286288
Option 4 ID : 6306801286287
Status : Answered
Chosen Option : 3
Marks : 2




Q.4 ‘STETeT AT 2reera Av fasearelf ereg 2.

Ans X 1. fawe
o 2. FATES
X 3.3
K 4. STeftet
Question Type : MCQ
Question ID : 630680330653
Option 11D : 6306801286282
Option 2 ID : 6306801286283
Option 3 ID : 6306801286281
Option 4 ID : 6306801286284
Status : Answered
Chosen Option : 2
Marks : 2
Q.5 'JERHSRI 3T, qTFITd ITINT FI.
Ans X 1. AERATAT HERTA 3RTAAT SAHERT TIoToT Jaefd 3MuedT T3t 4d.
X 2. ST TTe HERTAT JoTrIT S@HSRT |ad 3TardT ardT.
W 3. TR TATIHATST fRIeRTY & ciedT HeTTeIT1 IERLERTeAT HERT TSR Jereied.
X 4. ATHERTE T ATIIT BledT e TAHSRR IJec]d el 3TN BYd 31,
Question Type : MCQ
Question ID : 630680330659
Option 11D : 6306801286305
Option 2 ID : 6306801286306
Option 3 ID : 6306801286307
Option 4 ID : 6306801286308
Status : Answered
Chosen Option : 3
Marks : 2
Q.6 T ITRiTH A TR 3R AT g SIS2ASE BV ?
Ans X 1. Rfdfars
w2 JAfaRars
X 3. RefifRarst
X 4. ddRars
Question Type : MCQ
Question ID : 630680330663
Option 11D : 6306801286322
Option 2 ID : 6306801286324
Option 3 ID : 6306801286321
Option 4 ID : 6306801286323
Status : Answered
Chosen Option : 2
Marks : 2




Q.7 A 30T ot GBI AED BIvT?

Ans X 1. T qfeaR
X 2. faar forarsa=
X 3.1 papoit
& 4.7 . RUTS
Question Type : MCQ
Question ID : 630680330664
Option 1 1D : 6306801286326
Option 2 ID : 6306801286327
Option 3 1D : 6306801286328
Option 4 ID : 6306801286325
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 A P, TI HISH URI- AT FUiT ang 31ef sies.
Ans X 1. UHTETET "GAT UL AT YA 0]
X 2. e grafoy
< 3. T HRUGT GRSt
" 4. JTYUTET Hepe 3TTeqd Hol
Question Type : MCQ
Question ID : 630680330657
Option 1 1D : 6306801286299
Option 2 ID : 6306801286297
Option 3 1D : 6306801286300
Option 4 ID : 6306801286298
Status : Answered
Chosen Option : 4
Marks : 2
Q.9 fawgrif erearaTad Eeflete! gebre SISt 2.
Ans X 1.41%% -1iq
X 2. gof-3rqof
X 3. UiMTaI-ysHThe
i 4. gt
Question Type : MCQ
Question ID : 630680330652
Option 1 ID : 6306801286280
Option 2 ID : 6306801286279
Option 3 ID : 6306801286278
Option 4 ID : 6306801286277
Status : Answered
Chosen Option : 4
Marks : 2




Q.10 "HTHT SAfIOY =T dTeRITd 3UANT .

Ans

W 1. 713 TS ST Ha ATIeTT HTHT SfAe § Tdee TSigedT T8t 37Tl

2< 2. THH ATATATST QAT ST,

#< 3. YT ATEhTd GUTT ATAT el

X 4. T GEATATIR AT HAR Gl AITUATHTST HeBTRITT AT HHT SdeT.

Question Type :
Question ID :
Option 11D :
: 6306801286315
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Marks :

Option 2 ID

McQ
630680330661
6306801286314

6306801286316
6306801286313
Answered

1

2

Q.11 Aof ATIOY AT ITFAYIRTIT dTeRITd 3YANT .

Ans

< 1. AT FTUITHTS 37TE AT dTel @0l ATad 3R

s 2. AT WECATEAT SOl TRt fAsTelt Fgup T afSeti=n @roft wred e,

2 3. T =T IvepaT WRU[T MTedSaTg aeT JedTdaR |IvT dTad 3.
X 4. BT Grerqol} Fafear aister Aot @rdr

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680330660
6306801286310
6306801286309
6306801286311
6306801286312
Answered

2

2

Q.12 NP ST B HAR" AT goirer 31ef -

Ans

X 1. At YT B R
s 2. afer faaR eaar qoT T A1 ad diee o BRTd.

X 3. BTEN FRATYET AT =R,
X 4. gafeft =af st

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680330656
6306801286293
6306801286294
6306801286295
6306801286296
Answered

2

2




Q.13 "gERT" AT AT fawgrelf ereg fever.
Ans X 1.7dH

X 2.7

o 3. 3

X 4595

Question Type : MCQ
Question ID : 630680330651
Option 1 1D : 6306801286275
Option 2 ID : 6306801286273
Option 3 1D : 6306801286276
Option 4 ID : 6306801286274
Status : Answered
Chosen Option : 3
Marks : 2

Q.14 "HfcaR Ut ?

Ans X 1. Td:a Belell Il
X 2. gHuT g% @A g 5oy
W 3. T TISEIeR dheied! Wiereh Elel

x 4. [SRISSIIEEICH gqﬁitl TR PIeu]

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680330646
6306801286254
6306801286255
6306801286253
6306801286256
Answered

3

2

Q.15 AT HIY TRANTRY 3QTER0T 3T,

Ans

X 1. AifeTeRgT IR qasar e
X 2. YT g aret e,

g 3. QBT 3TaT AR ST
X 4. g Bfaar arere.

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680330648
6306801286263
6306801286264
6306801286261
6306801286262
Answered

3

2




Q.16 "HEeeIA FATATAT fa<IRe. ' & G WiefieTieh! o TN 31TE o 35T,

Ans X 1. 31HE At TR
< 2. BT R
< 3. Bl wEn
g 4.7
Question Type : MCQ
Question ID : 630680330647
Option 1 1D : 6306801286260
Option 2 ID : 6306801286259
Option 3 ID : 6306801286257
Option 4 ID : 6306801286258
Status : Answered
Chosen Option : 4
Marks : 2
Q.17 ' ¥ arEATAATd SITaT 3707 T YedesTer qut are al.’ AT areIrer ER HiordT ?
Ans X 1. fasmarar
< 2. wgraTR
< 3. Fad g™
o 4. T a1
Question Type : MCQ
Question ID : 630680330642
Option 1 1D : 6306801286238
Option 2 ID : 6306801286240
Option 3 ID : 6306801286239
Option 4 ID : 6306801286237
Status : Answered
Chosen Option : 4
Marks : 2
Q.18 3RIE 2req 3. FTeted gt an *
Ans X 1.7d&mT
X 2. 9rdEE
X 3. 3rrefdEr
it 4. AT
Question Type : MCQ
Question ID : 630680330662
Option 1 1D : 6306801286317
Option 2 ID : 6306801286318
Option 3 ID : 6306801286320
Option 4 ID : 6306801286319
Status : Answered
Chosen Option : 4
Marks : 2




Q.19 'STAH AT QTGP 2T AT IHTIATIUE BI0TAT?31TR,

Ans

X 1. 91t 3ng o 3rr Sy
w2, ITCTIOUTTITY 3rete fos
X 3. @EM s9aT A

X 4. 91a 3nfoy fAs

Question Type :
: 630680330655
: 6306801286291
: 6306801286289
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Marks :

Question ID
Option 1 1D
Option 2 ID

mcQ

6306801286292
6306801286290
Answered

2

2

Q.20 “ Bl @R, 3G TSR, T2 2T AT B, "aIRIBR 35ET :

Ans

X 1. gerf®
X 2. 3greff

i 3. TIBRIe
X 4. TRt

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680330643
6306801286243
6306801286241
6306801286244
6306801286242
Answered

3

2

Q.21 AMARTET TR dEw

Ans

X 1. S Ea
X 2. FIBRTAT SRR

3. HETT Bl
X 4. faer v

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status

Marks

McQ
630680330665
6306801286332
6306801286329
6306801286331
6306801286330

: Answered
Chosen Option :

3

12




Q.22 YA FHUTeT TeTdie e AT 3Mmea?

Ans o 1. T, wdd, 1
X 2. 3R, ™, @
< 3.7, R, @
X 4., Afg, =T
Question Type : MCQ
Question ID : 630680330650
Option 1 1D : 6306801286269
Option 2 1D : 6306801286270
Option 3 1D : 6306801286271
Option 4 1D : 6306801286272
Status : Answered
Chosen Option : 1
Marks : 2
Q.23 *Sar fEarest, ar fermr ar wgottem 3ref Jim.
Ans X 1. BT &Sl FRIRY
s 2. ST 3T aTedl, T des! /Tl SiTaiel
X 3. TR IR ARMR
X 4. 3ATGSIOTT 0T,
Question Type : MCQ
Question ID : 630680330658
Option 1 1D : 6306801286301
Option 2 1D : 6306801286302
Option 3 1D : 6306801286304
Option 4 1D : 6306801286303
Status : Answered
Chosen Option : 2
Marks : 2
Q.24 ‘®HS' AT AT FHMTRIT TAAAT 2Ieg BIUTAT?
Ans X 1.9RsT
o 2. TaTT
X 3. W
X 4. 3eia
Question Type : MCQ
Question ID : 630680330649
Option 1 1D : 6306801286267
Option 2 ID : 6306801286265
Option 3 ID : 6306801286266
Option 4 1D : 6306801286268
Status : Answered
Chosen Option : 4
Marks : 0




Q.25 M BT IiTedT A1 Pel 3[4, R AT BRATAT Neft 3GA? T ATRITET FHR N5aET.

Ans

X 1. el are.
X 2. genefd areRy
i 3. Tparelf arey
X 4. HgH g

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680330644
6306801286248
6306801286247
6306801286246
6306801286245
Answered

3

2

Section : English Language

Q.1

Ans

Select the most appropriate adjective to fill in the blank.
Which is the of the lot?

X 1. big
X 2. better
X 3. more

" 4. best

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680280580
6306801090558
6306801090555
6306801090557
6306801090556
Answered

4

2

Q.2

Ans

Select the most appropriate meaning of the given proverb.

Birds of a feather flock together

w# 1. People with similar interests or of the same kind tend to form groups.

/5 2. To look at things from others point of view.

/< 3. To deal with a person who is difficult to understand.

/X 4. People can arrive at the same conclusion by different means.

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680274307
6306801065739
6306801065741
6306801065742
6306801065740
Answered

1

2




Q.3

Select the option that expresses the given sentence in passive voice.

Someone threw a lifebelt to me.

Ans X 1. Alifebelt will be thrown to you
w# 2. Alifebelt was thrown to me.
X 3. He threw a lifebelt to you
X 4.1t was by me, the lifebelt was thrown
Question Type : MCQ
Question ID : 630680252885
Option 1 1D : 630680981521
Option 2 ID : 630680981522
Option 3 ID : 630680981520
Option 4 ID : 630680981519
Status : Answered
Chosen Option : 2
Marks : 2
Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
She is responsible / for taking care / to her younger siblings / while her parents are at
work.
Ans X 1. while her parents are at work
/5 2. She is responsible
#5 3. for taking care
% 4. to her younger siblings
Question Type : MCQ
Question ID : 630680252141
Option 1 ID : 630680978546
Option 2 ID : 630680978543
Option 3 ID : 630680978544
Option 4 ID : 630680978545
Status : Answered
Chosen Option : 4
Marks : 2




Q.5 Select the most appropriate option to fill in the blank.
In my organisation, the duties every year by the management.
Ans X 1.is rotated
X 2. rotates
" 3. are rotated
X 4. has rotated

Question Type : MCQ
Question ID : 630680274270
Option 1 1D : 6306801065592
Option 2 ID : 6306801065593
Option 3 ID : 6306801065591
Option 4 1D : 6306801065594
Status : Answered
Chosen Option : 3
Marks : 2
Q.6 Select the option that identifies the error in the given sentence and the correction
required.
| cannot see you tomorrow evening. | am spend time with my kids.
Ans X 1.Error: | am spend
Correction: | spend
a# 2. Error: | am spend
Correction: | am spending
/< 3. Error: | cannot
Correction: | may not
#5 4. Error: | cannot
Correction: | will not
Question Type : MCQ
Question ID : 630680280572
Option 1 ID : 6306801090525
Option 2 ID : 6306801090526
Option 3 ID : 6306801090524
Option 4 1D : 6306801090523
Status : Answered
Chosen Option : 4
Marks : 0




Q.7 Select the most appropriate articles to fill in the blanks.

exhibition of royal jewellery has now become yearly affair.
Ans X 1.an;an
X 2.a;an
3. an;a
X 4. aa

Question Type : MCQ
Question ID : 630680270811
Option 1 1D : 6306801052433
Option 2 ID : 6306801052431
Option 3 ID : 6306801052432
Option 4 ID : 6306801052430
Status : Answered
Chosen Option : 3
Marks : 2

Q.8 The given sentence is missing punctuation. Choose the option with the correct
placement of punctuation marks to make this a meaningful sentence.

if youve borrowed a book to read, you dont automatically attain full custody of it to do
with it as you please

Ans X 1. If you've borrowed a book to read, you do’nt automatically attain full custody of it to
do with it as you please.

" 2. If you've borrowed a book to read, you don’t automatically attain full custody of it, to
do with it as you please.

/5 3. If you've borrowed a book to read you don’t automatically attain full custody of it to do
with it as you please!

< 4. If you've borrowed a book to read you don’t automatically attain full custody of it to do
with it as you please.

Question Type : MCQ
Question ID : 630680270790
Option 1 1D : 6306801052346
Option 2 ID : 6306801052347
Option 3 ID : 6306801052349
Option 4 ID : 6306801052348
Status : Answered
Chosen Option : 3
Marks : 0




Q.9 Select the most appropriate meaning of the given idiom.
To hit the bull’s eye
Ans X 1.To be misjudged
w# 2. To be exactly correct
X 3. To the point
X 4. To get distracted

Question Type : MCQ
Question ID : 630680274305
Option 1 1D : 6306801065733
Option 2 ID : 6306801065732
Option 3 ID : 6306801065734
Option 4 ID : 6306801065731
Status : Answered
Chosen Option : 2
Marks : 2
Q.10 Select the most appropriate adverb to fill in the blank.
As the teacher explained the complicated theory, the pupils noted it down
in the notebooks.
Ans X 1.distantly
& 2. angrily
/< 3. impatiently
" 4. attentively
Question Type : MCQ
Question ID : 630680277952
Option 1 1D : 6306801080166
Option 2 1D : 6306801080167
Option 3 1D : 6306801080168
Option 4 ID : 6306801080165
Status : Answered
Chosen Option : 4
Marks : 2
Q.11 Select the most appropriate meaning of the given proverb.
Let bygones be bygones
Ans 1. To decide to forget about disagreements or arguments happened in the past
#5 2. Think before you act
/% 3. Concentrate on future
/5 4. If you are determined enough you will find a way to do anything
Question Type : MCQ
Question ID : 630680274309
Option 11D : 6306801065748
Option 2 ID : 6306801065749
Option 3 ID : 6306801065747
Option 4 ID : 6306801065750
Status : Answered
Chosen Option : 1
Marks : 2




Q.12 Select the most appropriate option to fill in the blank.
1 know this boy.
Ans X 1.quite
/X 2. often
X 3. frequently

## 4. hardly

Question Type

. McQ
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

630680274328
6306801065824
6306801065825
6306801065826
6306801065823
Answered

4

2

Q.13 Select the most appropriate ANTONYM of the underlined word.

The politician's statement was ambiguous, leaving the audience unsure of his true

intentions.
Ans X 1.Vague

/X 2. Tentative
a# 3. Clear
/< 4. Dubious

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252146
630680978564
630680978565
630680978563
630680978566
Answered

3

2




Q.14 Select the most appropriate option with the future tense form according to the

Ans

situation given in brackets to fill in the blank.
(Everyday, Peter eats three bars of chocolate on the way home from school).

Before he gets home from school, tonight Peter
## 1. will have eaten three bars of chocolate
/< 2. shall eat three bars of chocolate
/< 3. would eat three bars of chocolate

< 4. will eat three bars of chocolate

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680279737
6306801087208
6306801087210
6306801087209
6306801087207
Answered

4

0

Q.15 Select the most appropriate option to fill in the blank.

Ans

She is crazy
with her camera.

X 1. with
## 2. about
X 3.0on

X 4. for

photography and spends hours capturing beautiful moments

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252103
630680978393
630680978394
630680978392
630680978391
Answered

2

2




Q.16 Select the correctly punctuated phrase to fill in the blank.

As soon as arrive in Liverpool, Fix arrests Fogg.

Ans X 1.Fogg, Aouda, Passepartout
/5 2. Fogg - Aouda - Passepartout
# 3. Fogg, Aouda and Passepartout
X 4.Fogg and Aouda and Passepartout

Question Type
Question ID
Option 1 ID

. McQ
: 630680270750
: 6306801052187
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Marks :

6306801052189
6306801052188
6306801052186
Answered

3

2

Q.17 Select the most appropriate synonym of the given word.

Hide
Ans X 1.Flaunt
X 2. Recall
## 3. Disguise
X 4. Reveal

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

MCcQ
630680274316
6306801065775
6306801065776
6306801065778
6306801065777
Answered

3

2




Q.18 Identify the wrongly spelt word in the given sentence and choose the option with the
correct spelling.

Being born into priviledge has many blessings.

Ans & 1. Error: priviledge
Correction: privilege

/X 2. Error: priviledge
Correction: privelege

/< 3. Error: blessings
Correction: bleesings

#< 4. Error: blessings
Correction: blessinngs

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

MCcQ
630680270815
6306801052447
6306801052446
6306801052448
6306801052449
Answered

1

2

Q.19 In the following sentence, four words are underlined, of which one is incorrectly spelt.
Identify the INCORRECTLY spelt word.

On the opposite side of the street was a restarant of no great pretensions.
Ans X 1.opposite
/< 2. street
w 3. restarant

/5 4. pretensions

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
Question ID :

: 6306801052334
: 6306801052335
: 6306801052336
: 6306801052337
Status :

Chosen Option :
Marks :

McQ
630680270787

Answered
3
2




Q.20 Select the most appropriate option to fill in the blank.
You found the lost pen,

Ans X 1.don't you?
o 2. didn't you?
/5 3. haven't you?

K 4 isn'tit?
Question Type : MCQ
Question ID : 630680279141
Option 1 1D : 6306801084843
Option 2 ID : 6306801084842
Option 3 ID : 6306801084841
Option 4 ID : 6306801084844
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 Select the option that expresses the given sentence in active voice.
English grammar is taught to the students by Mr. Lalapat.
Ans ..,f1. Mr. Lalapat teaches the students English grammar.
5 2. Mr. Lalapat is teaches the students English grammar.
/5 3. Mr. Lalapat has taught the students English grammar.
/5 4. Mr. Lalapat taught the students English grammar.
Question Type : MCQ
Question ID : 630680270769
Option 11D : 6306801052264
Option 2 ID : 6306801052263
Option 3 ID : 6306801052265
Option 4 ID : 6306801052262
Status : Answered
Chosen Option : 1
Marks : 2
Q.22 Select the most appropriate option to fill in the blank.
top-ranking candidates will be appointed at senior jobs in banks.
Ans  # 1. The
K 2.A
/X 3.Same
X 4. An
Question Type : MCQ
Question ID : 630680252906
Option 1 1D : 630680981605
Option 2 ID : 630680981603
Option 3 ID : 630680981606
Option 4 ID : 630680981604
Status : Answered
Chosen Option : 1
Marks : 2




Q.23 Select the most appropriate synonym of the underlined word.

She showed tenacious determination in pursuing her goals.
Ans X 1.nonchalant

/5 2. tolerable
/< 3. faint
" 4. persistent

Question Type : MCQ
Question ID : 630680277947
Option 1 1D : 6306801080148
Option 2 ID : 6306801080147
Option 3 ID : 6306801080145
Option 4 ID : 6306801080146
Status : Answered
Chosen Option : 4
Marks : 2
Q.24 The given sentence has an error. Select the option which rectifies the sentence.
Besides having two buses for the transport business, my brother had just bought a
jeep for personal use.
Ans X 1. Dbought a jeep for personal use
/X 2. for the transport business
/% 3. Besides having two buses
«# 4. my brother had just
Question Type : MCQ
Question ID : 630680278102
Option 1 1D : 6306801080768
Option 2 1D : 6306801080766
Option 3 1D : 6306801080765
Option 4 1D : 6306801080767
Status : Answered
Chosen Option : 4
Marks : 2
Q.25 Select the most appropriate question tag to fill in the blank.
We haven’t been to Delhi before, ?
Ans X 1. hasit
" 2. have we
/X 3. have been we
X 4. does it
Question Type : MCQ
Question ID : 630680270795
Option 1 1D : 6306801052369
Option 2 ID : 6306801052367
Option 3 ID : 6306801052366
Option 4 ID : 6306801052368
Status : Answered
Chosen Option : 1
Marks : 0

Section : General Knowledge




Q.1 Who among the following social reformers wrote for a weekly Prabhakar under the pen
name of Lokhitawadi?

Ans 1. Gopal Hari Deshmukh
/5 2. Gopal Ganesh Agarkar
/5 3. Mahadev Govind Ranade

/5 4. Ishwar Chandra Vidyasagar

Question Type : MCQ
Question ID : 630680275718
Option 11D : 6306801071383
Option 2 1D : 6306801071384
Option 3 ID : 6306801071386
Option 4 ID : 6306801071385
Status : Answered
Chosen Option : 1
Marks : 2
Q.2 Which of the following statements is INCORRECT regarding Parliamentary form of
Government?
Ans & 1. Prime Minister acts as the real executive.
/5 2. Council of Ministers is responsible only to Rajya Sabha.
X 3. Council of Ministers are collectively responsible to the legislature.
/X 4. Executives are drawn from the legislature.
Question Type : MCQ
Question ID : 630680276521
Option 1 1D : 6306801074579
Option 2 ID : 6306801074580
Option 3 ID : 6306801074581
Option 4 ID : 6306801074582
Status : Answered
Chosen Option : 2
Marks : 0
Q.3 Which fundamental duty applies to the tea seller in the given situation?
A street tea seller asks his 10 year old son, to help him with serving tea to customers
instead going to school.
Ans 1. To provide opportunities for education by one who is a parent
/< 2. To value and preserve the rich heritage of our composite culture
/< 3. To protect and improve the natural environment
/< 4. To safeguard public property and to abjure violence
Question Type : MCQ
Question ID : 630680276525
Option 1 1D : 6306801074597
Option 2 ID : 6306801074598
Option 3 ID : 6306801074596
Option 4 ID : 6306801074595
Status : Answered
Chosen Option : 1
Marks : 2




Q.4 Who among the following virtually launched Pradhan Mantri TB Mukt Bharat Abhiyaan
in September 20227

#5 1. Narendra Modi
< 2. Amit Shah

Ans

.'\"3. Droupadi Murmu
#< 4. Jagdish Dhankhad

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680269942
6306801049020
6306801049019
6306801049022
6306801049021
Answered

1

0

Q.5 Which of the following animals uses their skin for respiration when completely
submerged in water?

o 1. Frogs
/X 2. Lizards
/X 3. Fishes
X 4.Birds

Ans

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680287611
6306801118353
6306801118352
6306801118351
6306801118354
Answered

1

2

Q.6 Public Information Officer (PIO) means:

Ans X 1. the officer who protects the constitutional values
/5 2. the officer who protects the fundamental rights of citizens

«# 3. the officer designated by the public authorities in all administrative units or offices
under it to provide information to the citizens requesting for information under the RTI Act

/X 4. the officer who protects the human rights of citizens

Question Type
Question ID
Option 1 ID
Option 2 ID
Option 3 ID

. McQ
: 630680275188
: 6306801069265
: 6306801069263
: 6306801069264
Option 4 ID :
Status :
Chosen Option :
Marks :

6306801069266
Answered

3

2




Q.7 In the month of June 2023, World’s first fishing cat census was done in

Ans

/5 1. Dal Lake

5 2. Walur Lake
f3. Chilika Lake
5 4. Upper Lake

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680269935
6306801048993
6306801048992
6306801048991
6306801048994
Answered

2

0

Q.8 The Right to Information Act 2019 was passed by Rajya Sabha on

Ans

2< 1.28 July 2019
& 2. 25 July 2019
< 3.27 July 2019
< 4.26 July 2019

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275209
6306801069350
6306801069347
6306801069349
6306801069348
Answered

4

0

Q.9 What is the urban population percentage in India, according to the 2021 Census
projection, based on interpolation of the latest United Nations data?

Ans

X 1.34.5%
X 2.40.3%
X 3.31.6%

" 4.35.39%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275795
6306801071694
6306801071692
6306801071693
6306801071691
Answered

2

0




Q.10 Dr. Kaushik Rajashekara, who is working on futuristic machines, was bestowed with
which of the following awards in 20227

Ans 1. Global Energy Award
/5 2. Gyanpeeth Award
5 3. Megasaysay Award

/5 4. International Sustainable Development Award

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

MCcQ
630680269914
6306801048909
6306801048907
6306801048910
6306801048908
Answered

4

0

Q.11 Which of the following organisations is NOT included in Schedule Two of the RTI Act?
Ans X 1.Border Security Force

w# 2. Private Deemed University
/5 3. Central Reserve Police Force

/5 4. National Security Guards

Option 1 1D
Option 2 ID

Option 4 ID

Question Type :
Question ID :

: 6306801069303
: 6306801069306
Option 3 ID :
: 6306801069305
Status :

Chosen Option :
Marks :

McQ
630680275198

6306801069304

Answered

4
0

Q.12 To empower the citizens, promote transparency and accountability in the working of
the Government and contain corruption is the basic object of the

Ans X 1. Delhi Police Establishment Act, 1964
/5 2. Information Technology Act, 2000
«# 3. Right to Information Act, 2005

X 4. Delimitation Act, 2002

Option 2 ID

Chosen Option

Question Type :
Question ID :
Option 11D :

: 6306801116411

Option 31D :

Option 4 ID :

Status :

EX3)

Marks :

McQ
630680287126
6306801116414

6306801116413
6306801116412

Answered

2




Q.13 Which state/UT declared as India’s first Swachh Sujal Pradesh by Union Jal Shakti

Minister Gajendra Singh Shekhawat?

Ans X 1.Chandigarh
5 2. Assam
.,,fS. Andaman and Nicobar Islands
5 4. Tripura
Question Type : MCQ
Question ID : 630680269928
Option 1 1D : 6306801048963
Option 2 ID : 6306801048966
Option 3 ID : 6306801048964
Option 4 ID : 6306801048965
Status : Answered
Chosen Option : 1
Marks : 0
Q.14 Consider the following statements about Dandi March:
1) The Dandi March began on March 12.
2) Gandhiji, along with a band of seventy-eight members of Sabarmati Ashram
marched for 240 miles.
3) Gandhiji broke the salt law at Dandi on April 6.
Select the option for the correct statements:
Ans .‘FTAII 1,2and 3
/5 2.Both 1 and 2
/% 3.Both2 and 3
/5 4.Both 1and 3
Question Type : MCQ
Question ID : 630680275672
Option 1 1D : 6306801071202
Option 2 1D : 6306801071199
Option 3 ID : 6306801071201
Option 4 ID : 6306801071200
Status : Answered
Chosen Option : 3
Marks : 0
Q.15 How many Schedules does the Indian Constitution contain at present?
Ans X 1.14
K 2.10
K 3.15
w412
Question Type : MCQ
Question ID : 630680270465
Option 1 1D : 6306801051048
Option 2 ID : 6306801051046
Option 3 ID : 6306801051049
Option 4 ID : 6306801051047
Status : Answered
Chosen Option : 4
Marks : 2




Q.16 Which of the following Indian states won the Santosh Trophy after 45 years, in 2023?

Ans

/< 1. West Bengal
" 2. Karnataka
/< 3. Maharastra

/< 4. Odisha
Question Type : MCQ
Question ID : 630680269903
Option 1 1D : 6306801048864
Option 2 ID : 6306801048863
Option 3 1D : 6306801048865
Option 4 1D : 6306801048866
Status : Answered
Chosen Option : 1
Marks : 0
Q.17 In which of the following matters can a Public Interest Litigation (PIL) be filed in India?
1) Bonded labour matters
2) Non-payment of minimum wages to workers
3) Complaints of harassment in jails
Ans X 1.0Only1and 3
5 2.0nly1and 2
%" 3. All1,2and 3
X 4.0nly2and 3
Question Type : MCQ
Question ID : 630680275454
Option 1 1D : 6306801070328
Option 2 1D : 6306801070327
Option 3 ID : 6306801070330
Option 4 ID : 6306801070329
Status : Answered
Chosen Option : 2
Marks : 0
Q.18 Which of the following are the evening thunderstorms in Bengal and Assam?
Ans X 1. Blossom Showers
X 2. Mango Showers
& 3. Loo
" 4. Nor Westers
Question Type : MCQ
Question ID : 630680275785
Option 1 1D : 6306801071652
Option 2 1D : 6306801071651
Option 3 ID : 6306801071654
Option 4 ID : 6306801071653
Status : Answered
Chosen Option : 4
Marks : 2




Q.19 Shanti Swarup Bhatnagar Prize, which is conferred by the Government of India, is NOT

Ans

given in which of the following categories?

/5 1. Medical sciences
5 2. Mathematical sciences

.,,fS. Political science

/5 4. Earth, atmosphere, ocean and planetary sciences

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275406
6306801070135
6306801070136
6306801070137
6306801070138
Answered

3

2

Q.20 World Day of Social Justice 2023 was celebrated on

Ans

5 1.10 March
/5 2.4 March
..,fS. 20 February
/5 4.17 February

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680269941
6306801049015
6306801049018
6306801049017
6306801049016
Answered

1

0

Q.21 D Gukesh won a world championship in April 2023 and is associated with which of the

Ans

following sports?
" 1. Chess

5 2. Wrestling

/< 3. Badminton
X 4. Billiard

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680255012
630680990008
630680990010
630680990009
630680990007
Answered

1

2




Q.22 The Schedule 2 of Right to Information Act, 2005 relates to the:

Ans

«# 1. intelligence and security organisation established by Central Government
/< 2. sample of oath for central officers
/< 3.intelligence and security organisation established by State Government

/< 4. sample of oath for state officers

Question Type :
Question ID :

: 6306801116437
: 6306801116438
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :
Marks :

Option 1 1D
Option 2 ID

McQ
630680287132

6306801116436
6306801116435
Answered

2

0

Q.23 The state bird of

Ans

is the Great Indian Bustard.
/< 1. Uttar Pradesh

o 2. Rajasthan
/< 3. Punjab

/< 4.Haryana

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275777
6306801071620
6306801071619
6306801071622
6306801071621
Answered

2

2

Q.24 The Paika Rebellion of 1817 influenced which part of India?

Ans

/< 1. Bengal
/< 2. Punjab
/< 3. Madras
w# 4. Odisha

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275810
6306801071752
6306801071753
6306801071751
6306801071754
Answered

1

0




Q.25 Aslide is the fundamental unit of a containing a combination of images,
text, graphics, charts, etc.

Ans 1. MS-PowerPoint presentation
5 2. MS-Excel Spreadsheet
5 3. MS-Word document

/5 4. MS-pPublishering

Section : General Intelligence

Q.1 In what ratio must a grocer mix two varieties of tea worth ¥60/kg and ¥65/kg,
respectively, so that by selling the mixture at ¥68.20/kg he may gain 10%?

Ans X 1.4:5

o232
X 3.3:4
X 4.3:5

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680276517
6306801074566
6306801074564
6306801074565
6306801074563
Answered

1

2

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680277221
6306801077360
6306801077357
6306801077358
6306801077359
Answered

3

0

Q.2 Abag of rice weighing 48 kg 700 g has to be divided among 5 families. How much rice

will each family get?
Ans X 1.9.046 kg

W 2.9.740 kg
X 3.9.074 kg
X 4.9.640kg

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

MCcQ
630680277201
6306801077279
6306801077278
6306801077280
6306801077277
Answered

2

2




Q.3 A 725 m long train passes through a 235 m long tunnel in 48 sec. Find the speed of the
train (in m/sec).

Ans X 1.18
K 2.15
5 3.20
K422
Question Type : MCQ
Question ID : 630680279365
Option 1 1D : 6306801085730
Option 2 ID : 6306801085729
Option 3 ID : 6306801085727
Option 4 ID : 6306801085728
Status : Answered
Chosen Option : 3
Marks : 2
Q.4 Three of the following four are alike in a certain way and thus form a group. Select the
option that does NOT belong to that group.
Ans X 1. XTW
" 2. RNP
X 3.PLO
X 4.KGJ
Question Type : MCQ
Question ID : 630680256958
Option 1 1D : 630680997745
Option 2 ID : 630680997746
Option 3 ID : 630680997744
Option 4 ID : 630680997743
Status : Answered
Chosen Option : 2
Marks : 2
Q.5 Select the number from among the given options that can replace the question mark
(?) in the following series.
16, 19, 24, 31, 40, ?
Ans X 1.49
X 2.43
W 3. 51
X 447
Question Type : MCQ
Question ID : 630680271181
Option 1 1D : 6306801053796
Option 2 ID : 6306801053797
Option 3 ID : 6306801053798
Option 4 ID : 6306801053799
Status : Answered
Chosen Option : 3
Marks : 2




Q.6 If ‘A’ stands for ‘+’, ‘B’ stands for ‘-, ‘C’ stands for ‘x’ and ‘D’ stands for ‘+’, what will
come in place of the question mark ‘?’ in the following equation?

4A45D9B3C1="?

Ans X 1.7
X 28
X 3.9
w46
Question Type : MCQ
Question ID : 630680257165
Option 1 1D : 630680998564
Option 2 ID : 630680998565
Option 3 ID : 630680998566
Option 4 ID : 630680998563
Status : Answered
Chosen Option : 4
Marks : 2
Q.7 If the cost price of 12 tables is equal to the selling price of 16 tables, the loss
percentage is:
Ans X 1.15%
K 2.20%
" 3.25%
& 4.30%
Question Type : MCQ
Question ID : 630680277315
Option 1 1D : 6306801077709
Option 2 ID : 6306801077710
Option 3 ID : 6306801077711
Option 4 ID : 6306801077712
Status : Answered
Chosen Option : 3
Marks : 2
Q.8 Three of the following letter-clusters are alike in some manner and hence form a
group. Which letter-cluster does not belong to that group?
Ans X 1.HLO
X 2. XBE
" 3. CGl
K 4. TXA
Question Type : MCQ
Question ID : 630680271380
Option 1 1D : 6306801054593
Option 2 ID : 6306801054592
Option 3 1D : 6306801054594
Option 4 ID : 6306801054595
Status : Answered
Chosen Option : 3
Marks : 2




Q.9 Based on the alphabetical order, three of the following four letter-cluster pairs are alike
in a certain way and thus form a group. Select the option that does NOT belong to that

group.
Ans X 1.EA-VR
w2 IF-2V
X 3.0K-HD
X 4. TP-KG
Question Type : MCQ
Question ID : 630680273903
Option 1 1D : 6306801064131
Option 2 ID : 6306801064132
Option 3 ID : 6306801064134
Option 4 ID : 6306801064133
Status : Answered
Chosen Option : 2
Marks : 2
Q.10 What should come in place of the question mark (?) in the following series?
3,8,18,33,?,78
Ans X 1.48
o 2.53
X 3.38
X 4.43
Question Type : MCQ
Question ID : 630680273915
Option 1 1D : 6306801064181
Option 2 ID : 6306801064182
Option 3 ID : 6306801064179
Option 4 ID : 6306801064180
Status : Answered
Chosen Option : 2
Marks : 2




Q.11 Read the given statements and conclusions carefully. You have to take the given
statements to be true even if they seem to be at variance from commonly known facts.
You have to decide which conclusion/s logically follow/s from the given statements.

Statements: All rivers are mountains. Some mountains are Hills. No mountain is a
beach.

Conclusion (I): Some hills are beaches.
Conclusion (Il): No river is a beach.
Ans X 1. Neither conclusion I nor conclusion Il are true.
/< 2. Only conclusion | is true.
## 3. Only conclusion Il is true.

/< 4. Both conclusions | and Il are true.

Question Type : MCQ
Question ID : 630680271392
Option 1 1D : 6306801054643
Option 2 ID : 6306801054640
Option 3 ID : 6306801054641
Option 4 ID : 6306801054642
Status : Answered
Chosen Option : 3
Marks : 2

Q.12 PU 13 is related to UZ 21 in a certain way. In the same way, MS 28 is related to RX 36.
To which of the following is VD 34 related?

Ans X 1.DG 41
X 2.BF 40
W 3. Al 42

X 4.CH42

Question Type : MCQ
Question ID : 630680273867
Option 1 1D : 6306801063989
Option 2 1D : 6306801063990
Option 3 1D : 6306801063987
Option 4 ID : 6306801063988
Status : Answered

Chosen Option :
Marks :

3
2




Q.13 A garrison of 1200 men has provisions for 15 days. How long will the provisions last if

the garrison be increased by 600 men?

Ans X 1.12days
5 2.14 days
¥ 3. 10 days
/5 4.6 days
Question Type : MCQ
Question ID : 630680279389
Option 1 1D : 6306801085825
Option 2 ID : 6306801085826
Option 3 ID : 6306801085824
Option 4 ID : 6306801085823
Status : Answered
Chosen Option : 3
Marks : 2
Q.14 A pipe could fill a newly built empty tank in 5 hours. Later the tank developed a
leakage owing to which the pipe then took 6 hours to fill the tank. In how much time
will the filled tank become completely empty because of the leakage?
Ans " 1. 30 hours
5 2.25 hours
25 3.32hours
/5 4.28 hours
Question Type : MCQ
Question ID : 630680279404
Option 1 1D : 6306801085885
Option 2 1D : 6306801085883
Option 3 ID : 6306801085886
Option 4 ID : 6306801085884
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 Refer to the following number and symbol series and answer the question that follows.
Counting should be done from left to right only.
(Left) 5£7+3Q12&6@*4%9$8#(Right)
How many such numbers are there, each of which is immediately preceded by a
symbol and also immediately followed by a symbol?
Ans X 1.4
W26
X 3.5
X a7
Question Type : MCQ
Question ID : 630680257434
Option 1 1D : 630680999639
Option 2 ID : 630680999641
Option 3 ID : 630680999640
Option 4 1D : 630680999642
Status : Answered
Chosen Option : 2

Marks :

2




Q.16 If the manufacturer gains 10%, the wholesale dealer gains 15%, and the retailer gains

25%, then the cost of production of a table, the retail price of which is ¥1,265, is:

Ans X 1.3632.50

o 2.3800.00
/5 3.3834.34
5 4.3814.00
Question Type : MCQ
Question ID : 630680277331
Option 1 1D : 6306801077773
Option 2 ID : 6306801077774
Option 3 ID : 6306801077776
Option 4 ID : 6306801077775
Status : Answered
Chosen Option : 2
Marks : 2
Q.17 What should come in place of ? in the given series in order to make it logically
complete?
EK24 HN29 KQ39 NT54 ?
Ans X 1.VY74
& 2.VY70
& 3. QW74
X 4.QW70
Question Type : MCQ
Question ID : 630680271426
Option 11D : 6306801054779
Option 2 ID : 6306801054776
Option 3 ID : 6306801054778
Option 4 ID : 6306801054777
Status : Answered
Chosen Option : 3
Marks : 2
Q.18 1f the amount becomes 2 % times the sum after 2 years at compound interest, the rate of interest per annum is:
Ans X 1.25%
X 2.30%
X 3.40%
w* 4. 50%
Question Type : MCQ
Question ID : 630680277349
Option 11D : 6306801077845
Option 2 ID : 6306801077846
Option 3 ID : 6306801077847
Option 4 ID : 6306801077848
Status : Answered
Chosen Option : 4
Marks : 2




Q.19 The value of 0.0486 + 0.002 is:

Ans X 1.215
X 2.13.8
W 3.243
X 4.187
Question Type : MCQ
Question ID : 630680277174
Option 1 1D : 6306801077172
Option 2 ID : 6306801077170
Option 3 ID : 6306801077171
Option 4 ID : 6306801077169
Status : Answered
Chosen Option : 3
Marks : 2
Q.20 Evaluate:
427 +4.
Ans X 1.6
w210
X 3.8
K412
Question Type : MCQ
Question ID : 630680277157
Option 1 1D : 6306801077101
Option 2 1D : 6306801077103
Option 3 ID : 6306801077102
Option 4 ID : 6306801077104
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 Refer to the following number-series and answer the question that follows. (All the
numbers are single-digit numbers only.)
(Left)21241857342168436757895(Right)
How many such even numbers are there, each of which is immediately preceded by an
even number and also immediately followed by an even number?
Ans X 1.0
X 23
w31
K42
Question Type : MCQ
Question ID : 630680257440
Option 1 1D : 630680999663
Option 2 ID : 630680999666
Option 3 ID : 630680999664
Option 4 ID : 630680999665
Status : Answered
Chosen Option : 3
Marks : 2




Q.22 Based on the alphabetical order, four letter-clusters have been given, out of which
three are alike in some manner and one is different. Select the one that is different.

Ans o 1. RUX
/< 2. ORW
& 3.LOT
& 4.1LQ
Question Type : MCQ
Question ID : 630680272804
Option 1 1D : 6306801059776
Option 2 ID : 6306801059778
Option 3 ID : 6306801059777
Option 4 ID : 6306801059775
Status : Answered
Chosen Option : 1
Marks : 2
Q.23 Four word-pairs have been given, out of which three are alike in some manner and one
is different. Select the one that is different.
Ans X 1. Captain : Team
a# 2. Artist : Troupe
X 3. General : Army
/X 4. Prime Minister : Cabinet
Question Type : MCQ
Question ID : 630680273885
Option 1 1D : 6306801064059
Option 2 ID : 6306801064062
Option 3 ID : 6306801064060
Option 4 ID : 6306801064061
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All trees are cactus.

All cactus are herbs.

Conclusions:

(I) Some trees are not herbs.

(Il) At least some herbs are cactus.

Ans X 1.Both Conclusion (I) and (1l) are true
..,'\"'2. Only Conclusion (ll) is true
< 3. Neither Conclusion (1) nor (ll) is true

/< 4. Only Conclusion (1) is true

Question Type : MCQ
Question ID : 630680256938
Option 1 1D : 630680997666
Option 2 ID : 630680997664
Option 3 ID : 630680997665
Option 4 ID : 630680997663

Status : Answered

Chosen Option : 3

Marks : 0

Q.25 | walk at a speed of 10 km/h and reach my destination in 2 hrs. If | increase my speed
by 5 km/h, how early will | reach my destination?

Ans  #1.40 min
< 2.30 min
25 3.50 min

< 4.20 min

Question Type : MCQ
Question ID : 630680279355
Option 1 1D : 6306801085689
Option 2 1D : 6306801085688
Option 3 1D : 6306801085690
Option 4 ID : 6306801085687
Status : Answered

Chosen Option :
Marks :

1
2




